?@ E’ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
= = www.EquipmentAnchorage.com

\%Lﬁy/ PENT A I R oes. J. ROBERSON SR
JsoBno. 11-1461 4
TWO POST RACK e 6/ 10
OF SHEETS
SEISMIC SUPPORTS ¢ ATTACHMENTS CONCRETE SLAB
CG.NT. = 670 LB CE.

(INCLUDES CONTENTS)

T ~ _ BRACKET PROVIDED BY PENTAIR I
(ASTM AIOII, C5 TYPE B, Fy=30 KSI MIN) !
(5EE SHEET 10 OF 10)
USE 4- 3/4"9 HILTI KB-TZ
EXPANSION ANCHORS
= (MIN. EMBED. (het) = SEE SCHED)
< W/ STANDARD WASHERS
NORMAL WEIGHT CONCRETE |
(F'c = 3000 PSI MIN)
\ | I 1
i»\/u | i»\/u \ Vb Vo
D‘ EQ EQ EQ | EQ
m Hlx
RIS 21.48" B4
2 i ‘5"3' v \) \
% TU TU TU TU
FRONT ELEVATION SIDE ELEVATION
ANCHORS
B3 B3
MAX Sps TYPE DIAM EFF EMBED QTY TsLAB Tu Vu
170 HILTI KB-TZ 3/4" 375" 4 6" 2054 | 416
220 HILTI KB-TZ 3/4" 475" 4 8" 3894 539

* VALUES INCLUDE Qs
NOTES:

1 FORCES ARE DETERMINED PER 2013 CALIFORNIA BUILDING CODE AND ASCE
STRENGTH DESIGN IS USED. f(@p = 25, Ip = 15, Rp = 60, Qs = 25, z/h = 0)

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS
FOR DESIGN. THIS PREAPPROVAL ENCOMPASSES ALL WEIGHTS UP TO THE
MAXIMUM WEIGHT SHOWN.

3 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE

SUPPORT STRUCTURE DESIGNED TO SUPPORT WEIGHTS AND FORCES
SHOWN IN COMBINATION WITH ALL OTHER LOADS THAT MAY BE PRESENT.

#“"+,  RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com

=2 = -, See the product details here



https://www.RSPSupply.com
https://www.rspsupply.com/p-62113-hoffman-esdr19fm45u-870x270x190-network-seismic-2-post-open-frame-rack.aspx

/5‘ Eij@ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com

\— PENTAIR oes J. ROBERSON ezt
JoBno. 11-1461 5
TWO POST RACK e 6/ 10

OF SHEETS

SEISMIC SUPPORTS § ATTACHMENTS MAX Sps < |10 CONCRETE SLAB

2| 48" USE 4- 3/4"0 HILTI KB-TZ

—- : — EXPANSION ANCHORS
) EQ (MIN. EMBED. (het) = 3.75")
— i o W/ STANDARD WASHERS

CG. WT. = &10 LB

<] —— (INCLUDES CONTENTS)
JiN] (\? = 42||)

EQ <&/

ﬂ—. —

™
(%
i

| © ©

PLAN AT BASE

LOADS: PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10,
STRENGTH DESIGN IS USED (Sps = 170, @p = 25, Ip = 15, Rp = 60, Qo = 25, z/h = 0)

WEIGHT = 870 LB

HORIZONTAL FORCE (Emn) = 191Wp = 1662 LB

VERTICAL FORCE (E) = 034Wp = 296 LB BOLT SPECS: 3/4" HILTI KB-TZ (het= 375")

oT= 075¢Nn = 3296 LB/BOLT  (TENSION)

BOLT FORCES: ®V= ¢Vn = 7634 LB/BOLT  (SHEAR)
TENSION (T)
1662#(42") 16624(42") 870#(09) - 296#
T o | BERad) | o ; -
U MAMM |:2 BoLTs (2148") 2t B)J T D s (1348") 4 BoLTS 2954 LE/ABOLT (MAX
( HORLZ - SIDE TO SIDE ) ( HORLZ - FRONT TO BACK ) (WEGHT(9) - Ev)

SHEAR (V)
Vi v = 26;2# = 415 LB/BOLT (MAX)

UNITY CHECK:
T Vi 0954\ [ 4% :
( oT ) * ( & ) <12 (8296) i (7634) 055412 " LK

_#""+,  RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com
=2 = -, See the product details here



https://www.RSPSupply.com
https://www.rspsupply.com/p-62113-hoffman-esdr19fm45u-870x270x190-network-seismic-2-post-open-frame-rack.aspx

/5‘ Eij@ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com

21.45"

\— PENTAIR oes J. ROBERSON et
JoBno. 11-1461 6
TWO POST RACK e 6/ 10

OF SHEETS

SEISMIC SUPPORTS § ATTACHMENTS 170 < MAX Sps < 220 CONCRETE SLAB

USE 4- 3/4' HILTI KB-TZ
EXPANSION ANCHORS

EQ EQ (MIN. EMBED. (ha) = 4.75")
W/ STANDARD WASHERS

Vi v = 421'508# - 539 LB/BOLT (MAX)

UNITY CHECK:
Ty Vu 3804\ (539
( oT )*( Y ) @ (@)*(?634) 097<12 .5, O

CG.NT. = &10 LB
o —— (INCLUDES CONTENTS)
i (? = 42||)
EQ <$>//
ﬂ—- o
D)
S
W
’ © ©
PLAN AT BASE
LOADS: PER 2013 CALIFORNIA BULDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 220, @p = 25, Ip = 15, Rp = 60, Qo = 25, z/h = 0)
WEIGHT = 870 LB
CEOF?THZ&TT%RFCOER(CEE) (_Erg“ﬁvi"‘?végg 58158 B BOLT SPECS. 3/4’ HILTI KB-TZ (net= 475"
ETER = oT= 075¢Nn = 4328 LB/BOLT  (TENSION)
BOLT FORCES: oV= ¢Vn = 7634 LB/BOLT  (SHEAR)
TENSION (T)
2158#(42") 2158#(42") 870#(09) - 383#
T = | clooras) ; =
U MAMM |:2 BoLTs (2148") 2t B)J T D st (1348") 4 BoLTS 300+ LB/HOLT haX
( HORIZ - SIDE TO SIDE ) ( HORIZ - FRONT TO BACK ) (WEIGHT(09) - Ev)
SHEAR (V)

#“"+,  RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com

=2 = -, See the product details here



https://www.RSPSupply.com
https://www.rspsupply.com/p-62113-hoffman-esdr19fm45u-870x270x190-network-seismic-2-post-open-frame-rack.aspx

EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.Equipm

entAnchorage.com

SHEET

[4

P E NT A I R oes. J. ROBERSON
soeNno. 11-1461
TWO P OST RACK DATE 6/17/15

OF 1 O SHEETS

SEISMIC SUPPORTS § ATTACHMENTS

NOTES:

42"

CONCRETE SLAB ON METAL DECK

CG. WT. = 810 LB
(INCLUDES CONTENTS)

>\ >\

%ﬁ;'mi@ﬂ\

21.48"

v v
Tv Tv
FRONT ELEVATION

HORIZONTAL FORCE (En) = 165 Wp

BRACKET PROVIDED BY PENTAIR
(ASTM AIOII, C5 TYPE B, Fy=30 KSI MIN)
(5EE SHEET 10 OF 10)

USE 4- 3/4"¢ (A36) THREADED RODS
THRU FLOOR

NAW. OR SAND L.
CONC. (3000 PSI MIN)

cG.

>\

M

EQ

REFER TO SHEET 4 OF 10
FOR ADDITIONAL DETAILS

>\

M.

EQ

_134e" _

Tu = 25657 LB/BOLT (MAX) \J
Vu = 359 LB/BOLT (MAX) Tu

\J
Tu

(VALUES DO NOT INCLUDE QJ SIDE ELEVATION

1. FORCES ARE DETERMINED PER 2013 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED. (Sps = 220, @p = 25, Ip = 15, Ro = 60, Q= 25,z/h <)

HORIZONTAL FORCE (Emh) = 4.13 Wp (FOR CONCRETE ANCHORAGE)

VERTICAL FORCE (Ev) = 044 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS
FOR DESIGN. THESE CALCULATIONS ENCOMPASS ALL WEIGHTS UP TO THE
MAXIMUM WEIGHT SHOWN.

38 STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE
SUPPORT STRUCTURE DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN
IN COMBINATION WITH ALL OTHER LOADS THAT MAY BE PRESENT.

L ]

RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com

_ See the product details here



https://www.RSPSupply.com
https://www.rspsupply.com/p-62113-hoffman-esdr19fm45u-870x270x190-network-seismic-2-post-open-frame-rack.aspx

/5‘ Eij@ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com

\— PENTAIR oes J. ROBERSON shesr
JoBno. 11-1461 8
TWO POST RACK we ST | 10 oo
SEISMIC SUPPORTS § ATTACHMENTS CONCRETE SLAB ON METAL DECK
21.48"

USE 4- 3/4"¢ (A36) THREADED RODS
EQ EQ / THRU FLOOR W/ STANDARD WASHERS

® g

| CG. NT. = 810 LB
o (INCLUDES CONTENTS)
JWH) h—/ = 42||)
EQ M
L _
A9
>
i
! © ©
PLAN AT BASE
LOADS: PER 2013 CALIFORNIA BULDING CODE AND ASCE 7-10,
STRENGTH DESIGN IS USED (Sps = 220, @p = 25, b = 15, Ro = 60, Qo = 25, /h < 1)
WEIGHT = 870 LB
HORIZONTAL FORCE (Fr) = 165Wp = 1436 LB )
HORIZONTAL FORCE (Em) = 4.13Wp = 3593 LB BOLT SPECS: 3/4" (A36) THREADED ROD
VERTICAL FORCE (E¥) = 044Wp = 383 LB ¢T= 14420 LB/BOLT  (TENSON)

BOLT FORCES: ®V=7691 LB/BOLT  (SHEAR)

TENSION (T)
1436#(42") 1436#(42") 870#(09) - 383#
T = | HOHAE) ; .
U MAXMUM [2 BoLTs (2148") g 3)} ¥ 2 oLTs (1348") 4 BoLTS 2557 LB/BOLT (MAX)
( HORIZ - SIDE TO SIDE ) ( HORIZ. - FRONT TO BACK ) ( WEIGHT(09) - Ev)
SHEAR (V)
Vo uwavn = —35%_ 359 | B/BOLT (MAX) (PER AISC J37, LESS THAN 20% STRESS)

4 BOLTS

_#""+,  RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com
=2 = -, See the product details here



https://www.RSPSupply.com
https://www.rspsupply.com/p-62113-hoffman-esdr19fm45u-870x270x190-network-seismic-2-post-open-frame-rack.aspx

/5‘ EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
www.EquipmentAnchorage.com
\M > 4
// PENT A ’ R pes. J. ROBERSON sl
JoBno. 11-1461 9
DATE 6/17/15 oF 1 O SHEETS
SEISMIC SUPPORTS ¢ ATTACHMENTS ! <Y CONCRETE DETAIL
JIN] Hl
B 24" MIN u S S
Sl o NIA. OR SAND LA,
E = CONC. (3000 PS| MIN))
IS _—— EGUIPMENT
M CZ TU
. SlS
Yz &
o> O ===
r
VU |
>~
f
T : ' MAX
= |2 f Vu sTRUT MIN 20 GA OFFSET
"l ” STEEL W-DECK (TYP)
! I"MIN | 45
USE 3/8"¢ HILTI KB-TZ P MIN FLUTE
EXPANSION ANCHORS ¢
(MIN. EMBED. (her) = 2°) HEX NUT TOP ¢ BOT OF FLANGE
(2 ANSHERG MIN FER STRUT) (TYP) AT CONDITIONS WHERE NUT RLUTE DETAIL
CANNOT BE PROVIDED AT TOP SIDE
3 X3 X1/4" X 15" MIN OF STRUT, PROVIDE TAPPED HOLE
(A36) AT EACH ANCHOR THROUGH STRUT FLANGE.
MIN STEEL DECK REQUIREMENTS AND STRUT DETAIL
DEMANDS: (BASED ON UPPER FLOOR)
Tu= 2557 LB/BOLT
Vu = 359 LB/BOLT
VusTRUT = 0.7VU = 0.7(3594) = 251 LB/STRUT
CONCRETE ANCHORS AT STRUT BOLT SPEC: 3/8"¢ HILTI KB-TZ: (hef= 2" MIN)
V4 STRUT = Qo Vu STRUT = 25(25H) = 628 LB/STRUT ¢V= 938 LB/BOLT
USE 2 BOLTS MIN
V4 BOLT = 6284#/(2 BOLTS) = 314 LB/BOLT
STRUT DESIGN (L3 X 3 X 1/4": S = 0569 ir®, A36)
Mu STRUT = L#(M) = 8950"#
b 3 ¢ osa/E - oosa /200 s
t 025 Fy 36
.. Mn =15 Fy Sc
= 15(36000)0.8 X 0569)
= 24580"#
#Mn = 09Mn = 09(24580") = 22123"# > 8950"# .°. OK

L ]

~ RSPSupply - 1-
= See the product details here

888-532-2706 - https://www.RSPSupply.com



https://www.RSPSupply.com
https://www.rspsupply.com/p-62113-hoffman-esdr19fm45u-870x270x190-network-seismic-2-post-open-frame-rack.aspx

E) EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
— ' www.EquipmentAnchorage.com
\ ‘\%l /:,/

R oes J. ROBERSON 4
PENTAIR
sBno. T11-1461 1 O
TWO POST RACK e 6T/ | 10 seens

SEISMIC SUPPORTS & ATTACHMENTS BASE DETAIL

(4) 3/16" THK STIFFENER PLATES
(ASTM AlOII, €5 TYPE B, Fy=30 KSI MIN)

BRACKET PROVIDED BY PENTAIR
(3/16" THK, €S TYPE B, Fy=30 KSI MIN)

=\Q e = |
] \ L -
| | | I _
=
! 21.45" ! ‘ 13.45" !
ELEVATION SIDE

4"X4"X|/4" THK (A36) MOUNTING PLATE
(PROVIDED BY PENTAIR)

(4 PLACES) 75 4X FULL LENGTH
(4)- 13/16" HOLES
x /_H_< 4X FULL LENGTH ‘ B
=

- ~] o S

) ?
\‘7—< FULL LENGTH TYP
78

‘\&\\ 4X FULL LENGTH
Ny I\

314"

|&II

6”

WELD WASHER
/81172 \ (TYP)

20.15"

PLAN

LOADS TO BASE: (BASED ON UPPER FLOOR DEMANDS)
Tu= 2557 LB/BOLT (NON-PRYING)
Vu = 359 LB/BOLT

CERT-00030 A

L ]

=" *.  RSPSupply - 1-888-532-2706 - https://www.RSPSupply.com
=2 = -, See the product details here



https://www.RSPSupply.com
https://www.rspsupply.com/p-62113-hoffman-esdr19fm45u-870x270x190-network-seismic-2-post-open-frame-rack.aspx

